VCT.p

. .
PP | ]
ELESA [E8Y#if

|
- o

D

FRESE

RS Vi3 D
69872—* VCT.32 p-M5x20-* 32
69851—* VCT.32 p-M6x16-* 32
69852—* VCT.32 p-M6x20-* 32
69853—* VCT.32 p-M6x25-* 32
69854—* VCT.32 p-M6x30-* 32
69856—* VCT.32 p-M6x40-* 32
69859—* VCT.32 p-M8x16-* 32

0.3
I
FER BB C#
L d: o de | [Nm]
23 15 10 M5 20 6
23 15 10 M6 16 8
23 15 10 M6 20 8
23 15 10 M6 25 8
23 15 10 M6 30 8
23 15 10 M6 40 8
23 15 10 M8 16 8

ER

g

13
13
14
15
16
18

14


http://njnicety.com/goods/show-328.html
http://njnicety.com/goods/show-328.html
http://njnicety.com/goods/show-328.html
http://njnicety.com/goods/show-328.html
http://njnicety.com/goods/show-328.html
http://njnicety.com/goods/show-328.html

5
69861
69863—*
69865—*
69901—*
69902—*
69903—*
69911
69912—*
69913
69914—x*
69915
69916—*
69917
69919—x*
69960—*
69961—*
69962—*
69963—*
69965—*
69967—*
69971
69973—*
69975—*
69977—*
70021
70023—*

PrtEfE

L
VCT.32 p-M8x20-*
VCT.32 p-M8x30-*
VCT.32 p-M8x40-*
VCT.40 p-M6x20-*
VCT.40 p-M6x25-*
VCT.40 p-M6x30-*
VCT.40 p-M8x16-*
VCT.40 p-M8x20-*
VCT.40 p-M8x25-*
VCT.40 p-M8x30-*
VCT.40 p-M8x35-*
VCT.40 p-M8x40-*
VCT.40 p-M8x45-*
VCT.40 p-M8x55-*
VCT.50 p-M8x16-*
VCT.50 p-M8x20-*
VCT.50 p-M8x25-*
VCT.50 p-M8x30-*
VCT.50 p-M8x40-*
VCT.50 p-M8x50-*
VCT.50 p-M10x20-*
VCT.50 p-M10x30-*
VCT.50 p-M10x40-*
VCT.50 p-M10x50-*
VCT.63 p-M10x20-*

VCT.63 p-M10x30-*

32

32

32

40

40

40

40

40

40

40

40

40

40

40

50

50

50

50

50

50

50

50

50

50

63

63

ERF
L d.
23 15
23 15
23 15
27 17
27 17
27 17
27 17
27 17
27 17
27 17
27 17
27 17
27 17
27 17
32 19
32 19
32 19
32 19
32 19
32 19
32 19
32 19
32 19
32 19
37 22
37 22

I2

10

10

10

12

12

12

12

12

12

12

12

12

12

12

14

14

14

14

14

14

14

14

14

14

16

16

BRAT
d 6
M8
M8
M8
M6
M6
M6
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M10
M10
M10
M10
M10

M10

20

30

40

20

25

30

16

20

25

30

35

40

45

55

16

20

25

30

40

50

20

30

40

50

20

30

C#

[Nm]

13
13
13
16
16
16
16
16
16
16
16
16
16
16
16
16
16
23
23
23
23
37

37

BE
g
18
21
24
18
19
20
23
24
26
27
28
30
32
36
26
28
30
31
33
35
36
41
46
51
54

59



5
70025—*
70027—*
70029—*
70032—*
70036—*
70083—*
70085—*
70087—*
70095—*
70099—*

KRG

69816—C9
69817-C9
69821-C9
69822-C9
69823-C9
69824-C9
69831-C9
69832-C9
69833-C9
69834-C9

PRAESF ERF BRAT c# ER

BiEA D L d: I de | [Nm] g
VCT.63 p-M10x40-* 63 37 22 16 M10 40 37 64
VCT.63 p-M10x50-* 63 37 22 16 M10 50 37 69
VCT.63 p-M10x60-* 63 37 22 16 M10 60 37 74
VCT.63 p-M12x30-* 63 37 22 16 M12 30 46 67
VCT.63 p-M12x50-* 63 37 22 16 M12 50 46 79
VCT.74 p-M12x30-* 74 43,5 26 22 M12 30 68 86
VCT.74 p-M12x50-* 74 435 26 22 M12 50 68 98
VCT.74 p-M12x70-* 74 435 26 22 M12 70 68 110
VCT.74 p-M14x50-* 74 435 26 22 Mi4 50 78 106
VCT.95 p-M16x50-* 95 46 32 21 Mieé 50 138 175
PR ERF R c# E&
L] D L d1 I deg I [Nm] g
VCT.25 p-M4x6-C9 25 19 13 8 M4 6 5 5
VCT.25 p-M4x10-C9 25 19 13 8 M4 10 5 6
VCT.25 p-M5x10-C9 25 19 13 8 M5 10 6 7
VCT.25 p-M5x16-C9 25 19 13 8 M5 16 6 8
VCT.25 p-M5x20-C9 25 19 13 8 M5 20 6 9
VCT.25 p-M5x25-C9 25 19 13 8 M5 25 6 10
VCT.25 p-M6x10-C9 25 19 13 8 M6 10 6 8
VCT.25 p-M6x16-C9 25 19 13 8 M6 16 6 9
VCT.25 p-M6x20-C9 25 19 13 8 M6 20 6 10
VCT.25 p-M6x30-C9 25 19 13 8 M6 30 6 12

Technical information
%y
FEEER AR (PP) SRR G, WIVER. Pl wiAE LR B w7

Bt


http://njnicety.com/goods/show-328.html
http://njnicety.com/goods/show-328.html
http://njnicety.com/goods/show-328.html
http://njnicety.com/goods/show-328.html
http://njnicety.com/goods/show-328.html
http://njnicety.com/goods/show-328.html
http://njnicety.com/goods/show-328.html
http://njnicety.com/goods/show-328.html
http://njnicety.com/goods/show-328.html
http://njnicety.com/goods/show-328.html
http://njnicety.com/goods/show-328.html
http://njnicety.com/goods/show-328.html
http://njnicety.com/goods/show-328.html
http://njnicety.com/goods/show-328.html
http://njnicety.com/goods/show-328.html
http://njnicety.com/goods/show-328.html
http://njnicety.com/goods/show-328.html
http://njnicety.com/goods/show-328.html
http://njnicety.com/goods/show-328.html
http://njnicety.com/goods/show-328.html

M, IR .

g LIE

AR AN, WG .

IR, B AR S I G SRS (C9, ..., C6) .

TR A, AR R ZOR IR AU e S sCE R RTEAT S . FRiR el T

RS
BEERHIRAT, ATk, fF A UNI SR 947: 1S04753 MU .
(B 038 it Hax, A1),



	材料
	颜色
	彩色中心帽
	标准型号

